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1. Name the parent function, then describe the foliowing. tmn‘sfonﬁations in words.
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2. Fill in each blank with the parent ﬁmctmn that aemsponds to each of the graphs glven below.




Given the parent function f(x). write the ¢
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Graph the following functions witheni mmg a calcuiater Next, identify the parent function, list the
transformations involved, and also include the new domam and mnge
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Parent Function: g= I

List the transfarmatlms in words

a) LeF+ - |

b DPown 2

Domain; L“' \ ;GO) i

Range: [-—’2' OO\

xint: __(3 ,.O)

y-int: _(O -1 D)

‘LeREB: _ None

Right EB: _bgng 900 00
Inc; (\-! ‘1‘6‘9 )

9. hlx)~ 2(x 3 +1

Parent Function: y= x?'

b) _Rignt 3

9 _Vp |

Domain:' | (-e0, 60)

Range: _ C1,00)

No ne.

(0, tc\)
A \n(x) oo

)\-?'o-a

x-int:

y»int'

Left EB:

. _, nghtEB’ M\n(X) o0
m_______._____

10 {(X) =2/x+1-1

Parent Function: _{J= x|
 List tbgi;t;aigsférmaﬁons in words:

9 Nertical Sweith of 2

List the transformations in words:
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Graph the piece-wisé functions
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Unit 2
1. Write the following polynomial in standard form 6x° +5x" —2x° +4x* +5 :
9 3 :
~ -21x ¥5x +bx3+‘{x2*5
2. What kind of polynomial is x*+3x+2 ? (circle all that apply)
a)linear  b)cubic @auadraic d) constant
¢) monomial f) Binomial @rinomial @mlynomial
Complete the polynomial operation. (Lesson 6.7, 6.2, 6.3, 6.5)
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Factor the po!ynozmal. (Les,son @4}
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1. Are (x+2) and (x-6) factors of f(x) = 2x° + 8x2. —22x— 607
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Find all the zeros of the following functions
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Given the following zeros and multiplicities, write a function in factored form

6. 2 (multiplicity of 3), 5, -7(multiplicity of 2)
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Given the following graphs analyze the functmns
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Solve th;e followmg lynemxal meqaalmes
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